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Dividends from UK companies 
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EXAMPLE COMPANY LIMITED  

04091237 

123 Made Up Street, Example Town, England, PR74 8RN 
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Mr Test Customer 

123 Made Up Street, Example Town, England, PR74 
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Self-employed 

income from 

latest full 

accounting 

year 

Self-employed 

income from 

latest full 

accounting 

year 

Average 

income to be 

used for Loan 

to Income 

Multiple 

Outcome 

-£15,312 £9,856 N/A 

As the business has made a loss in the latest year, the 

customer would be unable to progress a DIP as this 

would reject for affordability based on the less made. 

-£2,228 -£21,007 N/A 

As the business has made a loss in both years, the 

customer would be unable to progress a DIP as this 

would reject for affordability based on the less made. 

£13,785 -£3,682 £5,051.50 

The business has earned a profit of £10,103 over the 

last two years – this averages at £5,051.50 per year. 

The LTI would be based on an income of £5,051.50. 

£24,918 -£30,647 N/A 

Although the business has made a profit in the latest 

accounting year, overall, it has made a loss of £5,729 

over a two-year period. Therefore, the customer 

would be unable to progress a DIP as this would reject 

for affordability. 
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https://intermediaries.hsbc.co.uk/broker-support/
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